

## भारत सरकार/ Government of India

## वस्त्र मंत्रालय/ Ministry of Textiles

पटसन आयुक्त का कार्यालय/ Office of the Jute Commissioner पाटसन भवन, सीएफ ब्लॉक, /Patsan Bhawan, CF Block, सातंवा व आठवां तल, एक्शन एरिया -I, / 7<sup>th</sup> & 8<sup>th</sup> Floor, Action Area-I, न्यूटाउन, कोलकाता700 – /156 Newtown, Kolkata – 700 156

No.Jute(Mktg)/143/2022-II

Date:27 -03-2025

To The Director (All jute mills),

**Subject:** Review of Supply Backlog of the Jute Mills – action reg.

Madam/Sir,

Jute Commissioner has issued PCSOs to the jute mills as per clause 4 of Jute and Jute Textiles Control Order,2016 considering their installed capacity and commitment submitted by the respective jute mills. It has been observed that many jute mills have failed not only to supply the jute bags within the delivery period as given in PCSOs but also within 30 days of the date of PCSO. Further, some of the jute mills have been supplying quantities less than what were committed by them.

- 2. Jute Commissioner has issued Sacking Requisition Order dated 24<sup>th</sup> March 2025 in exercise of powers conferred by clause 4 of Jute and Jute Textiles Control Order, 2016 directing all the jute mills to engage their entire installed sacking capacity for exclusive manufacture of specified quantities of B.Twill jute bags as per directions contained in PCSOs and for supply to NAFED.
- 3. It is therefore expected that the jute mills need to use their entire installed capacity and clear the backlog by end of April 2025. An analysis of the current backlog and the number of months it would take to clear the present backlog given the maximum of monthly inspections in either of January 2025 or February 2025 is attached at Annexure 1. The jute mills requiring more than 1.5 months to clearthe backlog (i.e. clearing all the backlog by 15<sup>th</sup> May 2025) on this metric are highlighted in red.
- 4. In view of the above, it is expected that the jute mills increase their production and inspections after the issuance of the Sacking Requisition Order. The daily inspections from 24.03.2025 shall also be kept in view to determine the time it would require to clear the backlog as on date and the more favorable value shall be considered for calculating the projected time.

- 5. Therefore, all the jute mills are directed to clear the pending backlog as quickly as possible. To ensure the supply to the State Procurement Agencies (SPAs), it is decided that:
  - i) The mills which are highlighted in red in Annexure 1 shall not be considered for allocation of PCSO until the expected date of clearing present backlog comes before 15<sup>th</sup> May 2025 considering the above methodology.
  - ii) The backlog as on date of placement of indent in April 2025 shall be analyzed considering the inspections of February 2025 and March 2025, as well as daily inspections from 24.03.2025. If the backlog persists, the jute mill shall not be considered for allocation.
  - iii) The Delivery Period for some State Procurement Agencies (SPAs) shall not be extended beyond 30<sup>th</sup> April 2025 depending on the pace of procurement in the state, as some of the SPAs may not require the bags after April 2025. The Delivery Period for PCSOs issued upto March 2025 for any SPA shall in no circumstance be extended beyond 31<sup>st</sup> May 2025.
  - iv) The jute mills with high backlog are expected to review their capacity to supply and request re-allocation of orders (given in March 2025) to mills with better supply performance, if in their estimation they shall not be able to supply the requisite quantity within given timelines. Such a request may be sent to o/o Jute Commissioner by 27<sup>th</sup> March 2025 (end of the day).
  - v) The mills which have backlog at the end of the season due to expiry of Delivery Period or otherwise may be penalized by way of lesser allocation in the next season's allocation.
  - vi) Further, it is reiterated that non-supply or default in supply of jute bags are considered as "unfair practices". Jute Commissioner may initiate the proceedings for default in supply of jute bags under the relevant provisions of Jute and Jute Textiles Control Order, 2016.

6. All the jute mills are therefore directed to take necessary action as detailed above to ensure that the entire allocated quantity is executed at the earliest possible.

(Neeraj Kulhari) Deputy Jute Commissioner

Jute Mill	BacklogQuantity	Max Insp of (Jan, Feb)	Months needed to clear current backlog	
Neelam Jute Pvt. Ltd.	1080	#N/A	#N/A	
Limelight Commercial Pvt. Ltd.	1050	#N/A	#N/A	
Dinajpur Industries Private Limited	480	#N/A	#N/A	
Kalinga Jute products Pvt Ltd	2242	0	#DIV/0!	
JAIKISHANDASS MALL JUTE PRODUCTS PVT LTD	1870	322	5.81	
Sri Ganesh Jute Mills - Lessee A.S.Jute Product Pvt. Ltd.	926	384	2.41	
GajmukhVinimayPvt. Ltd.	15630	2574	6.07	
THE EMPIRE JUTE COMPANY LIMITED	5972	1230	4.80	
Mansha Jute Pvt. Ltd.	3084	864	3.5	
Lakshmi Ganapati Jute Mills Pvt Ltd	3038	672	4.52	
GLOSTER NUVO LIMITED	4132	1270	3.2:	
DAAKSH JUTE LLP	7466	2034	3.6	
ESSEM JUTE INDUSTRIES LTD.	3222	1072	3.0	
OM NARAYAN JUTE MILLS	392	363	1.0	
DHANLAXMI JUTE MILL PVT. LTD.	2432	590	4.1	
Shyamjoti Jute Products Private Limited	4034	1004	4.0	
WINSOME INTERNATIONAL LTD Unit RAMESHWARA JUTE MILLS	4236	1440	2.9	
Bally Jute Company Ltd	20078	6612	3.0	
Anjanisut Jute Products Pvt. Ltd.	1484	628	2.3	
Yucon Exports Pvt. Ltd.	3255	990	3.2	
LOOMTEX ENGINEERING PVT LTD	6302	2230	2.8	
UMA SPINNERS PRIVATE LIMITED	2812	868	3.2	
Shaktigarh Textile and Industries Ltd. Unit Gondalpara Mill	12348	4702	2.6	
Jai Shri Krishna Jute Industries Pvt. Ltd. SRI SITARAMA LAKSHMI JUTE	3182	1340	2.3	
MILLS PVT LTD  AGARWALA JUTE MILLS PVT.	2498	730	3,4	
LTD. THE BARNAGORE JUTE	3110	1108	2.5	
FACTORY PLC	9538 1522			
GS JUTE PVT LTD Birla Corporation Ltd Unit Birla Jute Mills	14420			
SHAKTIGARH TEXTILE AND INDUSTRIES LTD	9726	las bases		
GANGES JUTE PRIVATE LIMITED	5226	1974	2.	

LIMITED UNIT WELLINGTON   JUTE MILLS   1548   2.72
JUTEX INDUSTRIES PVT LTD
ATLANTA MODULAR PVI LIMITED  AMBICA JUTE MILLS LTD  16928 66906 2.45 LUDLOW JUTE AND SPECIALITIES LTD 16852 8256 2.04  JAGATDAL JUTE AND INDUSTRIES LIMITED 8815 3668 2.40  AUCKLAND INTERNATIONAL LIMITED 8842 3868 2.29  PREMCHAND JUTE AND INDUSTRIES PVT LTD 9876 4108 2.40  MURLIDHAR RATANLAL EXPORTS LIMITED UNIT INDIA JUTE MILL 11414 4452 2.56  VIJAI SHREE PVT LTD UNIT FORT WILLIAM JUTE MILL 6798 4006 1.70  Kelvin Jute Ltd. 12152 5416 2.24  Radha Gobinda Jute Mill Pvt. Ltd. 1344 720 1.87  CHEVIOT COMPANY LIMITED 13302 7042 1.89  HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS 21290 12894 1.65  PRABARTAK JUTE MILLS LTD 3468 1764 1.97  Gloster Limited 11282 5382 2.10  Durga Lakshmi Jute Mill Pvt. Ltd. 2306 1360 1.70  KANKNARRAH CO LTD 13108 6640 1.97  BOWREAH JUTE MILLS 19530 13228 1.48  MRP COMMERCIAL PVT. LTD. 6430 3500 1.84  SHREE GOURI SHANKAR JUTE MILLS LIMITED 5094 2574 1.88  Kanknarrah Jute Private Lid Unit Naffarchandra Jute Mills 10144 5616 1.81  AGARPARA JUTE MILLS LIMITED 7692 4186 1.84  Bulbulchandiagro Jute Products Pvt.
ATLANTA MODULAR PVI LIMITED  AMBICA JUTE MILLS LTD  16928 66906 2.45 LUDLOW JUTE AND SPECIALITIES LTD 16852 8256 2.04  JAGATDAL JUTE AND INDUSTRIES LIMITED 8815 3668 2.40  AUCKLAND INTERNATIONAL LIMITED 8842 3868 2.29  PREMCHAND JUTE AND INDUSTRIES PVT LTD 9876 4108 2.40  MURLIDHAR RATANLAL EXPORTS LIMITED UNIT INDIA JUTE MILL 11414 4452 2.56  VIJAI SHREE PVT LTD UNIT FORT WILLIAM JUTE MILL 6798 4006 1.70  Kelvin Jute Ltd. 12152 5416 2.24  Radha Gobinda Jute Mill Pvt. Ltd. 1344 720 1.87  CHEVIOT COMPANY LIMITED 13302 7042 1.89  HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS 21290 12894 1.65  PRABARTAK JUTE MILLS LTD 3468 1764 1.97  Gloster Limited 11282 5382 2.10  Durga Lakshmi Jute Mill Pvt. Ltd. 2306 1360 1.70  KANKNARRAH CO LTD 13108 6640 1.97  BOWREAH JUTE MILLS 19530 13228 1.48  MRP COMMERCIAL PVT. LTD. 6430 3500 1.84  SHREE GOURI SHANKAR JUTE MILLS LIMITED 5094 2574 1.88  Kanknarrah Jute Private Lid Unit Naffarchandra Jute Mills 10144 5616 1.81  AGARPARA JUTE MILLS LIMITED 7692 4186 1.84  Bulbulchandiagro Jute Products Pvt.
AMBICA JUTE MILLS LTD 16928 6906 2.45 LUDLOW JUTE AND SPECIALITIES LTD 16852 8256 2.04 JAGATDAL JUTE AND INDUSTRIES LIMITED 8815 3668 2.40 AUCKLAND INTERNATIONAL LIMITED 8842 3868 2.29 PREMCHAND JUTE AND INDUSTRIES PYT LTD 9876 4108 2.40 MURLIDHAR RATANLAL EXPORTS LIMITED UNIT INDIA JUTE MILL 1141 4452 2.56 VIJAI SHREE PYT LTD UNIT FORT WILLIAM JUTE MILL 6798 4006 1.70 Kelvin Jute Ltd. 12152 5416 2.24 Radha Gobinda Jute Mill Pyt. Ltd. 1344 720 1.87 CHEVIOT COMPANY LIMITED 13302 7042 1.89 HOOGHLY INFRASTRUCTURE PYT LTD UNIT HUKUMCHAND JUTE MILLS 21290 12894 1.65 PRABARTAK JUTE MILLS LTD 3468 1764 1.97 Gloster Limited 11282 5382 2.10 Durga Lakshmi Jute Mill Pyt. Ltd. 2306 1360 1.70 KANKNARRAH CO LTD 13108 6640 1.97 BOWREAH JUTE MILLS PYT LTD UNIT BOWREAH JUTE MILL 19530 13228 1.48 SHREE GOURI SHANKAR JUTE MILLS LIMITED 5094 2574 1.98 Kanknarrah Jute Mills 10144 5616 1.81 AGARPARA JUTE MILLS LIMITED 7692 4186 1.84 BulbulchandiAgro Jute Products Pyt.
LUDLOW JUTE AND   SPECIALITIES LTD   16852   8256   2.04     JAGATDAL JUTE AND   INDUSTRIES LIMITED   8815   3668   2.40     AUCKLAND INTERNATIONAL   LIMITED   8842   3868   2.29     PREMCHAND JUTE AND   INDUSTRIES PVT LTD   9876   4108   2.40     MURLIDHAR RATANLAL   EXPORTS LIMITED UNIT INDIA JUTE MILL   11414   4452   2.56     VIJAI SHREE PVT LTD UNIT FORT WILLIAM JUTE MILL   6798   4006   1.70     Kelvin Jute Ltd.   12152   5416   2.24     Radha Gobinda Jute Mill PVL Ltd.   1344   720   1.87     CHEVIOT COMPANY LIMITED   13302   7042   1.89     HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS   21290   12894   1.65     PRABARTAK JUTE MILLS LTD   3468   1764   1.97     Gloster Limited   11282   5382   2.10     Durga Lakshmi Jute Mill PVL Ltd.   2306   1360   1.70     KANKNARRAH CO LTD   13108   6640   1.97     BOWREAH JUTE MILLS PVT LTD   13108   6640   1.97     BOWREAH JUTE MILLS PVT LTD   13108   6640   1.97     BOWREAH JUTE MILLS PVT LTD   13108   13228   1.48     MRP COMMERCIAL PVT. LTD.   6430   3500   1.84     SHREE GOURI SHANKAR JUTE   MILLS LIMITED   5094   2574   1.98     Kanknarrah Jute Private Ltd Unit   Naffarchandra Jute Mills   10144   5616   1.81     AGARPARA JUTE MILLS   10144   5616   1.81     LIMITED   7692   4186   1.84     Bulbulchandi Agro Jute Products Pvt.
SPECIALITIES LTD
JAGATDAL JUTE AND   INDUSTRIES LIMITED   8815   3668   2.40     AUCKLAND INTERNATIONAL   LIMITED   8842   3868   2.29     PREMCHAND JUTE AND   INDUSTRIES PYT LTD   9876   4108   2.40     MURLIDHAR RATANLAL   EXPORTS LIMITED UNIT INDIA JUTE MILL   11414   4452   2.56     VIJAI SHREE PYT LTD UNIT   FORT WILLIAM JUTE MILL   12152   5416   2.24     Radha Gobinda Jute Mill Pyt. Ltd.   1344   720   1.87     CHEVIOT COMPANY LIMITED   13302   7042   1.89     HOOGHLY INFRASTRUCTURE   PYT LTD UNIT HUKUMCHAND   JUTE MILLS   21290   12894   1.65     PRABARTAK JUTE MILLS LTD   3468   1764   1.97     Gloster Limited   11282   5382   2.10     Durga Lakshmi Jute Mill Pyt. Ltd.   2306   1360   1.70     KANKNARRAH CO LTD   13108   6640   1.97     BOWREAH JUTE MILLS PYT LTD   13108   6640   1.97     BOWREAH JUTE MILLS PYT LTD   1328   1.48     MRP COMMERCIAL PYT. LTD.   6430   3500   1.84     SHREE GOURI SHANKAR JUTE   MILLS LIMITED   5094   2574   1.98     Kanknarrah Jute Private Ltd Unit   Naffarchandra Jute Mills   10144   5616   1.81     AGARPARA JUTE MILLS LIMITED   7692   4186   1.84     BulbulchandiAgro Jute Products Pyt.   1000
INDUSTRIES LIMITED
AUCKLAND INTERNATIONAL LIMITED PREMCHAND JUTE AND INDUSTRIES PYT LTD 9876 MURLIDHAR RATANLAL EXPORTS LIMITED UNIT INDIA JUTE MILL VIJAI SHREE PYT LTD UNIT FORT WILLIAM JUTE MILL Radha Gobinda Jute Mill Pvt. Ltd. CHEVIOT COMPANY LIMITED 13302 FOA2 HOOGHLY INFRASTRUCTURE PYT LTD UNIT HUKUMCHAND JUTE MILLS PRABARTAK JUTE MILLS LTD Gloster Limited 11282 S382 2.10 Durga Lakshmi Jute Mill Pvt. Ltd. 2306 1360 1.70 KANKNARRAH CO LTD 13108 6640 1.97 BOWREAH JUTE MILLS PYT LTD UNIT BOWREAH JUTE MILL SHREE GOURI SHANKAR JUTE MILLS LIMITED 5094 SARKNARRAH JUTE MILLS SHREE GOURI SHANKAR JUTE MILLS LIMITED 5094 SARKNARRAH JUTE MILLS LIMITED 5094 LA86 BUBUBLchandiAgro Jute Products Pvt.
LIMITED   8842   3868   2.29
PREMCHAND JUTE AND   INDUSTRIES PVT LTD   9876   4108   2.40
INDUSTRIES PVT LTD
EXPORTS LIMITED UNIT INDIA JUTE MILL  VIJAI SHREE PVT LTD UNIT FORT WILLIAM JUTE MILL  6798  4006  1.70  Kelvin Jute Ltd.  12152  5416  2.24  Radha Gobinda Jute Mill Pvt. Ltd.  1344  720  1.87  CHEVIOT COMPANY LIMITED  13302  7042  1.89  HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS  PRABARTAK JUTE MILLS LTD  3468  1764  11282  5382  2.10  Durga Lakshmi Jute Mill Pvt. Ltd.  2306  1360  1.70  KANKNARRAH CO LTD  13108  6640  1.97  BOWREAH JUTE MILLS PVT LTD UNIT BOWREAH JUTE MILL  MRP COMMERCIAL PVT. LTD.  SHREE GOURI SHANKAR JUTE MILLS LIMITED  KANKNARRAH JUTE MILLS  LIMITED  5094  2574  1.98  KARRARAT JUTE MILLS  LIMITED  7692  4186  1.84  BulbulchandiAgro Jute Products Pvt.
JUTE MILL
VIJAI SHREE PVT LTD UNIT FORT WILLIAM JUTE MILL         6798         4006         1.70           Kelvin Jute Ltd.         12152         5416         2.24           Radha Gobinda Jute Mill Pvt. Ltd.         1344         720         1.87           CHEVIOT COMPANY LIMITED         13302         7042         1.89           HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS         21290         12894         1.65           PRABARTAK JUTE MILLS LTD         3468         1764         1.97           Gloster Limited         11282         5382         2.10           Durga Lakshmi Jute Mill Pvt. Ltd.         2306         1360         1.70           KANKNARRAH CO LTD         13108         6640         1.97           BOWREAH JUTE MILLS PVT LTD         19530         13228         1.48           MRP COMMERCIAL PVT. LTD.         6430         3500         1.84           SHREE GOURI SHANKAR JUTE MILLS LIMITED         5094         2574         1.98           Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills         10144         5616         1.81           AGARPARA JUTE MILLS LIMITED         7692         4186         1.84           Bulbulchandi Agro Jute Products Pvt.         10144         5616         1.84
FORT WILLIAM JUTE MILL
Kelvin Jute Ltd.         12152         5416         2.24           Radha Gobinda Jute Mill Pvt. Ltd.         1344         720         1.87           CHEVIOT COMPANY LIMITED         13302         7042         1.89           HOOGHLY INFRASTRUCTURE PVT LTD UNIT HUKUMCHAND JUTE MILLS         21290         12894         1.65           PRABARTAK JUTE MILLS LTD         3468         1764         1.97           Gloster Limited         11282         5382         2.10           Durga Lakshmi Jute Mill Pvt. Ltd.         2306         1360         1.70           KANKNARRAH CO LTD         13108         6640         1.97           BOWREAH JUTE MILLS PVT LTD         19530         13228         1.48           MRP COMMERCIAL PVT. LTD.         6430         3500         1.84           SHREE GOURI SHANKAR JUTE MILLS LIMITED         5094         2574         1.98           Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills         10144         5616         1.81           AGARPARA JUTE MILLS LIMITED         7692         4186         1.84           Bulbulchandi Agro Jute Products Pvt.         10144         5616         1.84
Radha Gobinda Jute Mill Pvt. Ltd.   1344   720   1.87
CHEVIOT COMPANY LIMITED   13302   7042   1.89
HOOGHLY INFRASTRUCTURE
PVT LTD UNIT HUKUMCHAND         21290         12894         1.65           PRABARTAK JUTE MILLS LTD         3468         1764         1.97           Gloster Limited         11282         5382         2.10           Durga Lakshmi Jute Mill Pvt. Ltd.         2306         1360         1.70           KANKNARRAH CO LTD         13108         6640         1.97           BOWREAH JUTE MILLS PVT LTD         19530         13228         1.48           MRP COMMERCIAL PVT. LTD.         6430         3500         1.84           SHREE GOURI SHANKAR JUTE MILLS LIMITED         5094         2574         1.98           Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills         10144         5616         1.81           AGARPARA JUTE MILLS LIMITED         7692         4186         1.84           Bulbulchandi Agro Jute Products Pvt.         10144         10144         10144         10144
JUTE MILLS   21290   12894   1.65
PRABARTAK JUTE MILLS LTD         3468         1764         1.97           Gloster Limited         11282         5382         2.10           Durga Lakshmi Jute Mill Pvt. Ltd.         2306         1360         1.70           KANKNARRAH CO LTD         13108         6640         1.97           BOWREAH JUTE MILLS PVT LTD         19530         13228         1.48           MRP COMMERCIAL PVT. LTD.         6430         3500         1.84           SHREE GOURI SHANKAR JUTE MILLS LIMITED         5094         2574         1.98           Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills         10144         5616         1.81           AGARPARA JUTE MILLS LIMITED         7692         4186         1.84           Bulbulchandi Agro Jute Products Pvt.         10144         10144         10144         10144
Column
Durga Lakshmi Jute Mill Pvt. Ltd.         2306         1360         1.70           KANKNARRAH CO LTD         13108         6640         1.97           BOWREAH JUTE MILLS PVT LTD         19530         13228         1.48           MRP COMMERCIAL PVT. LTD.         6430         3500         1.84           SHREE GOURI SHANKAR JUTE         5094         2574         1.98           Kanknarrah Jute Private Ltd Unit         10144         5616         1.81           AGARPARA JUTE MILLS         10144         5616         1.84           BulbulchandiAgro Jute Products Pvt.         10144         10144         10144
KANKNARRAH CO LTD
BOWREAH JUTE MILLS PVT LTD
UNIT BOWREAH JUTE MILL  MRP COMMERCIAL PVT. LTD.  SHREE GOURI SHANKAR JUTE  MILLS LIMITED  Kanknarrah Jute Private Ltd Unit  Naffarchandra Jute Mills  AGARPARA JUTE MILLS  LIMITED  7692  4186  1.48
MRP COMMERCIAL PVT. LTD. 6430 3500 1.84  SHREE GOURI SHANKAR JUTE  MILLS LIMITED 5094 2574 1.98  Kanknarrah Jute Private Ltd Unit  Naffarchandra Jute Mills 10144 5616 1.81  AGARPARA JUTE MILLS  LIMITED 7692 4186 1.84  BulbulchandiAgro Jute Products Pvt.
SHREE GOURI SHANKAR JUTE MILLS LIMITED  Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills  AGARPARA JUTE MILLS LIMITED  7692  4186  1.84  Bulbulchandi Agro Jute Products Pvt.
MILLS LIMITED 5094 2574 1.98  Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills 10144 5616 1.81  AGARPARA JUTE MILLS LIMITED 7692 4186 1.84  Bulbulchandi Agro Jute Products Pvt.
Kanknarrah Jute Private Ltd Unit Naffarchandra Jute Mills  AGARPARA JUTE MILLS LIMITED  7692  4186  1.84  BulbulchandiAgro Jute Products Pvt.
AGARPARA JUTE MILLS LIMITED 7692 4186 1.84 BulbulchandiAgro Jute Products Pvt.
LIMITED 7692 4186 1.84 BulbulchandiAgro Jute Products Pvt.
BulbulchandiAgro Jute Products Pvt.
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
RDB TEXTILES LIMITED
LICENCEE VICTORIA JUTE
WORKS 15410 9806 1.57
Shri Bake Bihari Jute Products LLP 856 580 1.48
TEPCON INTERNATIONAL INDIA
LTD UNIT SHREE HANUMAN JU 8394 4780 1.76
The Assam Co operative Jute Mills Ltd 4494 2716 1.65
Eu
HSB AGRO INDUSTRIES ETB
KAMARHATTY COMPANY LTD 8686 5406 1.61 THE NAIHATI JUTE MILLS
COMPANY LIMITED 10876 7534 1.44
THE ANGUS COMPANY LIMITED 12694 8966 1.42
MAHADEO JUTE AND
INDUSTRIES LIMITED 2672 2184 1.22

THE HOOGHLY MILLS CO LTD	3378	2914	1.16
SUNBEAM VANIJYA PRIVATE	3370	2714	1.10
LIMITED LESSEE THE EASTERN			
MFG CO LTD	5312	3922	1.35
ADITYA TRANSLINK PRIVATE			
LIMITED	10402	7188	1.45
MAA ANNAPURNA JUTE AND			
CARPETS INDUSTRIES PVT LTD	1674	1252	1.34
JANKALYAN VINIMAY PVT LTD			
PROCESSING UNIT MEGNA JUTE MIL	0264	6274	1 47
	9364	6374	1.47
Baba Jute Products Pvt. Ltd.	904	876	1.03
THE GANGES MANUFACTURING	0256	6000	
CO LTD Shaktigarh Textile & Industries Ltd	9356	6908	1.35
Unit Hastings Mill	12366	8842	1.40
			1.40
Jagannath Jute Products NORTHBROOK JUTE COMPANY	1144	864	1.32
LIMITED	5846	4450	1 21
			1.31
Maheswari Jute Spinners Pvt. Ltd.  Calcutta Jute Manufacturing Company	1578	1588	0.99
Limited Cancular Vianuracturing Company	2478	3364	0.74
ANGLO INDIA JUTE AND	2476	3304	0.74
TEXTILE INDUSTRIES PVT LTD	8072	7798	1.04
BUDGE BUDGE COMPANY	0072	7750	1.04
LIMITED	7746	6394	1.21
DALHOUSIE JUTE COMPANY	6998	5704	1.23
Alliance Mills Lessees Ltd	10928	9839	1.11
Reliance Jute Mills (international) Ltd.	10684	10284	1.04
SARADA JUTE MILLS PVT LTD	1486		
West Bengal Agro Textile Corporation	1480	1528	0.97
Ltd.	1774	1718	1.03
KESHAVA JUTE MILLS PVT LTD	2444	2870	0.85
Averill InfrastrusturePvt. Ltd.	3588	3450	
KALIYAGANJ AGRO TRADING	3300	3430	1.04
PVT LTD	1502	1362	1.10
KAMAKSHI JUTE INDUSTRIES	1302	1502	1.10
LTD	4010	4752	0.84
CALEDONIAN JUTE AND			3.01
INDUSTRIES LTD	5130	9734	0.53